R1 R2
14 8 14 15
plivi 6 plivi 12
3t | 5 3tz | 10
At | 4 At | 8
501 | 3 501 | 6
6l | 2 6tz | 4
768 | 1 76 | 3
8t | 1 8t | 2
oft | 1 ofit | 1
1061 | 1 1061 | 1
1161 | 1 1161 | 1
1261 | 1 1261 | 1
131i 1 131 1
1461 | 1 1461 | 1
1561 | 1 1561 | 1
1661 | 1 1661 | 1

SEI-ZL 177k R1 R2
[ BFR W& | Brob| WL | Frob|noF| astReobs e
1 PYS 1131 8 1131 15 0 23
2 SAl 213 6 2111 12 0 18
3 LFI 33 5 3fi 10 | 15 16.5
4 ARB 5{i 3 6fil 4 45 11.5
5 Enzo 443 4 5{i 6 |-15 8.5
6 =X 6{i 2 4 8 -3 7
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FP Q1 Q2
Gfii| FEy =H#E | TIME IGfii| 2e1 =& TIME |7 IGfii| 2e1 =# TIME
1 SAl | 18| 23.875 1 SAl | 14| 25.258
2 7=<& | 14| 24.303 2 PYS |17 25.344
3 LFI | 13| 24470 3 Enzo [12] 26.322
4 PYS |15] 24.614 4 LFI [ 13| 26.003 |04&®
5 ARB |[12]| 24.666 5 ARB [12] 26.237
6 | Enzo | 17| 24.798 6 | 7=<& |14 26.321 [04&T
RACE.1 RACE.2
G| &1 (=% R = [E5ETTIES I =
1 PYS [17 10 - 1 PYS [13]| 15 -
2 SAl |14 10 0.283 2 SAl 12| 15 0.414
3 LFI 15 10 3.625 3 LFI 18| 15 1.023
4 | Enzo |12 10 11.697 4 | 7=<H& [17 | 15 2.732
5 ARB |18 10 12132 5| Enzo | 15| 15 8.111
6 7=<#& |13 10 12.621 6| ARB |14 ]| 15 10.192
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